Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
Diploma Sem-11 Remedial Examination September 2009
Subject code: 320026 Subject Name: Surveying
Date: 19/09/2009 Time: 11:00am-1:30pm
Total Marks: 70
Instructions:
1. Attempt all questions.
2. Make suitable assumptions wher ever necessary.
3. Figurestotheright indicate full marks.
4. English version Authentic
Q.1 (@) Explain principles of surveying 03
(b) Differentiate between 06
(i) Map and Plan
(i) Plain scale and Diagonal scale
(c) Define the terms: 05
(i) Mean sea level (ii) Level line (iif) Bench mafik) Reduced level (v)
Change point
Q.2 (@) State characteristics of contours with sketches. 07
(b) Explain which points will be kept in mind while seting survey station for 07
chain survey.
OR
(b) How will you do chaining on ‘Sloping ground’ . Exgoh in brief. 07
Q.3 (@) The distance between two points ‘P’ and ‘R’ meagwaleng a slop is 250 m.07
Find out the horizontal distance between pointaaid ‘R’ if
(i) The gradient 1 in 10.
(ii) The difference of elevation is 40 m.
(b) Distinguish between (Any TWO) 07
0] Isogonic line and Agonic line
(i) W.C.Bearing and Quadrennial Bearing
(i) True meridian and Magnetic meridian
OR
Q.3 (a) A 20m chain was found to be 10 cm too long afteximing a distance of 07
2000m. It was found to be 20 cm too short at theésdaork after chaining a
total distance of 4000m. Find the true distance.

(b) Draw a neat sketch of Prismatic Compass and &lbpérts , also state 07
functions of each parts
Q.4 (a) The following bearing of closed traverse ABCDE. 07
Line Bearing
AB 140° 30
BC 80'30
CD 340 00
DE 270'30
EA 230 30
Calculate the included angles and check by theteguaf interior angles.
(b) Write advantages and disadvantages of plane tableys 07
OR



Q.4

Q.5

Q.5

@)

(b)
(@)

(b)

(@)

(b)

The following reading were observed in closed trageavith a prismatic

compass. Find out correct bearings and correaided angles of traverse.

Apply usual checks.

Line Fore Bearing Back Bearing
AB 66° 20 246’ 20
BC 139 30 318 50
CD 189 40 11° 20
DA 300° 30 119 30

State various methods of plane table survey andaifxpny one in detail.
The following consecutive reading were taken wittuapy level and4 m 08
leveling staff on a continuously slopping groun@@tm intervals.

0.580, 1.255, 1.665, 1.955, 2.355, 2.955/%3.51.015, 1.750,

2.555, 2.975, 3.275, 0.655, 0.975, 1.7552885.
R.L. of first point is 100.00 m.

(i) Prepare page of level book.
(i) Calculate the R.L.s of all points by rise aatl method.

(iif) Apply usual arithmetical checks.

(iv) Calculate the slop of line joining the first andtl@oint.

State uses of plannimeter and find out area ajward from the following
data taken with plannimeter.

I.R. =3.421, F.R. =9.445, M= 100sqg.cm., C=21, N=2.

07

07

06

OR
Calculate R.L.s of points from data given below g necessary check. 08
B.S. I.S. F.S. H.l. R.L) Remarks
1.50 R.L.of
B.M.=150m
0.20
1.60
2.30
2.10 3.30 C.P.
1.70
2.00
1.00

Give the equation of Trapezoidal and average otdindes and work out

area by simpson’s rule from following data.

Chainageg 90 | 120 | 150 180 210| 240 270 300 330
In m.
Ordinate | 75| 81| 94| 105| 7.8 10.1 9.2 8.4 11.2
In m.
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0.580, 1.255, 1.665, 1.955, 2.355, 2.955/7%.51.015,
1.750, 2.555, 2.975, 3.275, 0.655, 0.97%54,and 2.355.
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I.R. =3.421, F.R. =9.445, M= 100sg.cm., C=21, N=2.
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